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B 677 885 894 1779
=K 205 287 295 582
—5 144 185 185 370
XK 177 236 240 476
PR 116 139 165 304
5Pk 7 9 12 21
¥E 104 136 147 283
HAH 76 101 98 199
JIIA 85 116 119 235
N 68 78 100 178
EX 203 274 310 584
Bl 66 78 94 172
iR A 48 43 57 100
1EiT 78 112 97 209
[i] 17 21 18 39
I 56 77 67 144
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AEIL 4 1 4 5
JR 6 9 6 15
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KH 78 108 102 210
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INEFR 46 56 64 120
R0 83 108 124 232
EHh 368 462 495 957
HEEE T 550 679 724 1403
fEh 100 114 145 259
HEZER 378 445 474 919
wmEF 219 277 293 570
L& 34 35 39 74
T#&IU 13 11 16 27
=X18 6,601 8,394 8,930 17,324




